- bateau_traverse()

Loup_cioite = @MFalse
Ghevre_drofte = @MTrue

qo_problemol)

Loup,droite = @MFalse

Loup drolte = @MFalse
Loup drole <> @MTrue
o

Fomme_droite - @MTrue

Pomme.drote <> Chewre_drofte

Bateau_droile = @MTrue
@NTe

fg_bateau_traversel)

a_pomme._traversel)

0_protiemol)

Loup_crole = @MFalse

A hewro_traverse()

ag_problemol)

Pomme_role = @MTrue

Pomme_droe <> Chevre droite
Bateau_droite = Loup arote
Bateau droite

Loup_droie <> @MTrue
Ghewro_droite = @NTruo
Pomi AT

Bateau droie - Loup_drofte
Balea_droile < @MTrue.
-

e bateau raverse()

lo_loup_raversa()

) drofe = @MTrue.

e Joup.traversel)

Loup,
Ch

Pomi
B:

problomo)

> droile = @MTrue.

re_droite
me_droits

T pomme_traversa()

lg_bateau traverse)

o

Loup,drofe = @MT
Chevre_droite = @MF:

o_problemo()

Loup_droite = @MTrue

Chews.drolte - @MFalse

Ghewre_droite <> Loup, drolte
me

1o <> @WTrue

L mme_droite
‘Batoay_droite <> @MTrue.
v

W Cheure.traverse()

oM averse)

o, traversel)

Loup.droite = @M True
True

n




